ENGR280 Quiz 1

When: September 27, 2005  11:30-12:20 

Time: 30 Minutes 
Where: ELL 168 (Craig) and ELL061 (Le)

Marks: 10
Problems: 5 each 2 marks
Close Book, 1 page of formula sheet and simple calculator allowed.
Let student write one the paper:

Student Name

Student Number

Email

(1) For compound interest case, the amount of interest earned each year is increasing, why? (2 marks)
(2) With a principle of $100 and interest rate 7% per year, calculate simple and compound interests (1 marks) and continuous compounding interests (1 marks) for 2 years.
(3) What amount must be paid to settle a current debt of $1000 in three years at an interest rate of 10% per year? (2 marks)
Fatty borrowed $2000 from a bank at 5% interest per year. Two end-of-year payments: at the end of the first year, he will repay half of the principal plus the interest that is due. At the end of the second year, he will repay the remaining half plus the interest for the second year.

(4) Calculate the two payments (2 marks)

(5) Draw the cash flow diagram for all the cash flows for fatty (2 marks)
Tutorial 

When: September 28, 2005  11:30-12:20 

Where: ELL 168 (Craig) and ELL061 (Le)

Based on but not limited to quiz 1 and following problems

1. 1.1 

2. 1.2 

3. 2.1 

4. 3.3 

5. 4.2

